RAA - Projects\Project Folders\Proj 1701 - 1800\PF 1718\D. RWBC Drawings\ODL Plastpro\TX-4383.dwg, TX-4383

215 EAST ROOSEVELT AVE.
s JEELAND, M| 49444

FIBERGLASS SIDELITE
INSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Glozed Sidelite described herein complies with the 2004 Infernational Residentiol
Code {IRC), Sections R301 & Ré613 and the 2004 International Building Code {IBC}, Sections
1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the following
conditions:

1. Anchors shall be os listed ond spaced as shown in the details. Anchor embedment to
base matetial shall be beyond wall dressing or stucco.,

2. This system has been tested and evaluated as a lorge missile impact protective system
for installation in the Seaward, Inland | and inland Il areas. This product meets missile
level "D" as defined in ASTM E 1994,

3. Allowable design pressure requirements must be equal o or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4, Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # DESCRIFTION
] Typical elevations, design pressures & general notes
Sidelite panel details
Lite frame and glazing details
Horizonial & vertical cross sections
Frame anchoring
Bill of materials & components

i (Wb

== 75.0" MAX. O.A. FRAME WIDTH —=

TEXAS P.E. #104123

37.5" MAX.

98.0° MAX. OVERALL
FRAME HEIGHT {INSWING])

FRAME WIDTH

00

75.0" x 98.0"

+35.0

-40.0

P.0. Box 230 Valrico Fl. 33595

UILDING CONSULTANTS, INC.
Phone No.: B13.850.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

R

Documents Prepared By: Lyndon F. Schmidt, P.E.

FIBERGLASS SIDELITE
TYPICAL ELEVATION, DESIGN

PART_OR ASSEMBLY:
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NO] DATE

oae: 9/16/13

ScAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4383

SHEET 1 oF 6

© 2013 R.W. BULDING BONSULTANTS IND.



CON| SLINYLUINESNCD SMNHAR "M°H ELOZ %]

ZS01i~d # NOLUVMISION 4O YOLLNIO SNOISIAJY i
SHIINIONZ TVNOISSA40Nd 4O QMVOE SVXIL STVIId TINVG 3LTIAIS AH 31v0 [ON ) slxlo] o 6_
LB1E°6C9'CLE oM euoyd : 4B 0|y
S6SEC 4 OOUPA OFZ 08 ‘0" m\%ﬁ@» "ATBAISSY H0 19vd W = el
“ONI ‘SINVLINSNOD ONIGHA ~N T B 2_
3IN30IS SSY194381d o &gl X
SZLyOLF "T'd SVXIL @ldlolylz o
‘I'd PIWYDS J uopul] Mg peupdeld musLInoog 101Q08d HEIEEE &
100 T
=z
Q
O
]
2 a
= e T = 2
o. ...a. [ - a8 . . D ‘4.. . e C
Q . ' - - a - Lo - .
(= vo ] ”l-.oa _a v oo : m~—l
T s M~ 4 . et <T
e - . R 'S Ao : v . : <« . . m
ot . IR : v e oo =
- 4 . - . R . pRL
/ >
_ = eulew
z £ ﬂu
— M -
o — o
mnu Z 5 =0
= Q0
# 532
=
m < D in
| I
— o 2
= =
uA s =%
L=} L
5
w/. x
P 5 I o
st
lw o | | =
=] —— =
% o
O
|ttt hrin|
.t |
R ..:».u/w m
aa = -
\ S U
Y = -
g =
= 2
~\\ o O
TR\ = )
. l( v
. .». - H
o o
= t.‘ .. ' mw
A .a..q...
b, .Y
R o
; - w
| dq.n .c.n ....-El
I R a2
— 74 xT
i1
¥ ? g
* ~—Z D
s 2 *
~-r
3]
< ll|:mwh.— — ﬂ .m.
Z * ik
o [ Z| 2
<= By A
<8 o= o~ =
=2 83 5lg
o « alg
ud [ 3
| ®
mw
THOEH BNV XYW .E2°G6

£7 'BMpegEr-X1\01diseld Ta0\SEUIMeIE DaMY "ONBTLT 4d\008T - TOLT [esd\sIapiod waloid\sioalold - v\



R\ - Projects\Project Folders\Prgj 1701 - 1800\PF 1718\D, RWBC Drawings\ODL Plastpro\TX-4383.dwg, 3.3

0.71" —-Eo-=
071" § @ . S
RO F h
iy |
- mepl
[ 1.84"

ODL. LITE FRAME CROSS SECTION
1" GLAZING

24.22" MAX.

r FRAME WIDTH
20.5" MAX, | |

D.L.O. WIDTH E l

82.25" MAX. O.A, FRAME HEIGHT
78.5" MAX. D.L.O. HEIGHT

89

ODL LITE FRAME CROSS SECTION

5/8" GLASS BITE

1.25" GLAZING
A5) (Al
A4 A5
EXT.
= =
INT.
50 A3)(A2) (A5

@ GLAZING DETAIL

N

1" OVERALL GLASS THK,
1/8" ANNEALED GLASS

4 0.090" SAFLEX® PVB INTERLAYER

1/8" ANNEALED GLASS

TEXAS P.E. $104123

1/8" TEMPERED GLASS

ALUMINUM SPACER

A5) (A1 5/8" GLASS BITE
Ad A5
EXT.
= "'E\\k
1 \ AIR SPACE
INT,
50 A3} (A2 A5

GLAZING DETAIL

EXT.

1" OVERALL GLASS THK.
1/8" ANNEALED GLASS

h\Y

0.090" SAFLEX® PVB INTERLAYER

1/8" ANNEALED GLASS

AIR SPACE
1/8" TEMPERED GLASS

STEEL SPACER (INTERCEPT)

® OO ®

5/8" GLASS BITE

1" OVERALL GLASS THK,
1/8" ANNEALED GLASS

., —— 0.090" SAFLEX® PVB INTERLAYER

-
N\

1/8" ANNEALED GLASS

AIR SPACE
1/8" TEMPERED GLASS

GLAZING SPACER {DecoSeal)
w/ DECORATIVE INSERTS

C) GLAZING DETAIL

®

ODL LITE FRAME

5/8" GLASS BITE

— 1.25" OVERALL GLASS THK.

1/8" ANNEALED GLASS

=
N

0.090" SAFLEX® PVB INTERLAYER

=

L\

1/8" ANNEALED GLASS

AIR SPACE
1/8" TEMPERED GLASS
OPTIONAL PVC INSERT

{WARMEDGE BLIND)
STEEL SPACER {INTERCEPT)

BILL OF MATERIALS (LITE FRAME & GLAZING DETAILS) R \® AN

EM # | DESCRIPTION MATERIAL i

AT_| EXTERIOR FRAME ALUM. (50) (A3 (A5)

A2_| INTERIOR FRAME (1" GLAZING) ALUM. (a9

A3_| #7-19 X 1-3/4" PPH SELF-DRILLING SMS STEEL GLAZING DETAIL

A4_| DOW 995 STRUCTURAL ADHESIVE SILICONE

A5_| NON STRUCTURAL BACKBEDDING SEALANT (READISEAL] - A DESCN PRESSURE o S e

A6_| INTERIOR FRAME (1" GLAZING) ALUM. INSWING = +30/-30 PSF

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico Fl. 33585
Phons No.: B13.659.9197

CERTIFICATE OF REGISTRATION # F—11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Ry

Documents Prepared By: Lyndon F. Schmidt, P.E.

FIBERGLASS SIDELITE
LITE FRAME & GLAZING DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NO{ DATE

foate: 9/16/13

seale: NLT.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4383

SHEET 3 oF _§

© 2013 R.W, BUILDING CONSULTANTS ING,



NOTE: ul
- o 1. Sidelite pane! screws located 6" from e
. ecch end plus 4 more equally spaced 83 E o
, "N~ 6 screws fotal). Ex % e
| L X
’ 5' ]
EXT. SHEATHING i DRYWALL g E ta 3-:
< 88° 238
v & « é oW
A © o xF &
©\ MR
' =40 0
{ :9 — £ 2% f
4 : % g E
[ ]
D P K g8
;M
bz
SHE

FIBERGLASS SIDELITE

ELEVATIONS & HARDWARE TABLE

REVISIONS

A\

m VERTICAL CROSS SECTION %f
b W ) 3
ELE\é})’\C'I;ION @ ?é
(X2 )
25 EXT. SHEATHING EXTERIOR INTERIOR
il
Ssso== y\
;_ YOO
& (GeXE5)EA) NN
I l (32)
. _ __ﬁi—___.l‘_ - i SEENOTE1 .
x // -Ii\\\\\\\\ N \w E
g " z

e baTE: 9/16/13
\' ' / seae:  NT.S.
DRYWALL

SEE NOTE 1 @ | o B UK

SEE NOTE 1 WOOD o E::‘;ﬂ:“ - o

"2\ HORIZONTAL CROSS SECTION (3" HORIZONTAL CROSS SECTION CONCRETE {4\ VERTICAL CROSS SECTION o
w w 0 W Inswing shown

sHesr 4 oF B

RAA - Projects\Project Folders\Proj 1701 - 1800\PF 1718\D. RWBC Drawings\ODL Plastpro\TX-4383.dwg, 4.3

© 2013 g.w. BuiLbin CONSWLTANTS ING,



RAA - Projects\Project Folders\Proj 1701 - 1800\PF 1718\D. RWBC Drawings\QDL Plastpro\TX-4383.dwg, 5.3

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR
ARCHITECT OF RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED.

J——~——~ &" (TYP.)

\
N ” =— 3" {TYP,}
N 2 ‘q*— 7 (TYP.)
I

g

TYP. HEAD
& JAMBS

[
|

&' (TYP)

14.5" MAX
C.C. (TYP.)

FRAME—
- —|I| (4)woop ~
o CONCRETE
TYP. SILL
CONCRETE ANCHOR NOTES: l l I l I
1. Concrefe anchor locations at the corers may be adjusted fo maintain the min. o
edge distance fo mortar joints.
2. Concrefe anchor locations nofed as "MAX. ON CENTER" must be adjusted o
mainfain the min. edge distance to mortar joints, addifional concrete anchors
may be required o ensure the "MAX. ON CENTER" dimension are nof exceeded.
3. Concrefe anchor fable:
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING
CONCRETE {MIN. 3000 PSi}
WOOD (G >=0.42)
ITw L ] L] "
1apcon® 1/4 1-3/4 1-1/2 4
Elco o {1 n 1
ULIRACON®| 174 1-3/4 ! 3

?%7 cor- :?’

TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Vdirico Fl.. 33585
Phone No.: 813.856.9187

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—-11852

Ry

Documents Prepared By: Lyndon F. Schmidt, P.E.

FIBERGLASS SIDELITE
FRAME ANCHORING

PART OR ASSEMBLY:

PRODQUCT:

BY

REVISIONS

NOJ DATE

DATE: 9/16/13

scalE: N.T.S.

owG. BY: JK

cHK. @&Y: LFS

DRAWING NO.:
TX-4383

sHEer 5 oF 6

© 2013 R.W. BuiLDING CONBULTANTS ING.



R\A - Projects\Project Folders\Proj 1701 - T800\PF 1718\D. RWBC Drawings\ODL Plastpro\TX-4383.dwg, 6.3

BiLL OF MATERIALS
ITEM DESCRIPTION MATERIAL

B 2X FRAMING (G >=0.42) wQOoQD

C 1/4" MAX. SHIM SPACE -

D 174" PFH MW CONCRETE SCREW {1-3/4" MIN. EMB.) STEEL

J #10 X 3" PFH WOOD SCREW {1-1/2" MIN. EMB.) STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

] HEAD & JAMB COMP

2 HEAD & JAMB WOQD
24 #10 X 1-1/2" PFH WOQOD SCREW STEEL
25 #10 X 2' PFH WOOD SCREW STEEL
32 #8 X 3" PFH WS STEEL
34 INSWING THRESHOLD ALUM/COMP
35 INSWING THRESHOLD ALUM/COMP
34 INSWING THRESHOLD ALUM/COMP
37 INSWING SIDELITE SEAT PVC
38 INSWING SIDELITE SEAT PVC
39 INSWING SIDELITE SEAT PVC
50 SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR DETAILS -

2.1%"
,"_ ].72t:’
3
5 H
] 0.08"

~a 5.83"

rc— 1.5" —e=d

34 INSWING THRESHOLD

I [

Therma-Tru

37 INSWING SIDELITE SEAT

Therma-Try

I———-‘— 0.75"

i—-‘*f— 0.75"

HEAD & JAMB
Composite

N P

B <

4.58"

1.25"

1.28"

¥ T
o b

38 INSWING SIDELITE SEAT

SSS

! 2.44"

HEAD & JAMB
Finger joint pine

204" —=
1.68" —=

— 088 r—-—

Endlura 60 SERIES

E 4.56"

35 INSWING THRESHOLD

Endura ZAIL 4545

with Composite Substrate

J—-—Z.l"“~|

0.0

39 INSWING SIDELITE SEAT

Columbia

4.57"

34 INSWING THRESHOLD

Columbia 900 Series

ul
o
$£ . B
g% g g%
[#9 ¢gR 87
h.-ﬂ. = ™~ [
sE2
g a 3
H $a 53
EF HEQ BE
3>0 HE
E9mw gW
@ 85, £
O Xz h_m
3 Zh, Oy
2 448 A
E mod gﬁ
oz
: = £
PR 35
W]
b= %51
o
&G e
5] > %8
2 l8 L=
3 |5 53
(] bt L)
& |lal
Lo |9 D
ANE
9 5
8 E
i <L
a o
>_
m
5
=
Q
2}
o
o
-
<
[
o
=z
oate: 9/16/13
SCAE:  N.T.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4383

sHEgT B oF B

© 2013 R.W. BUILDING CONSULTANTS ING.



